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Number
MATHEMATICS — Paper I
Time Allowed : 2 ; Hours | | [ Maximw Marks : 100
PART -1

N.B.: 1 This Part conf:ajns two Sections, Section - A and Se: ion - B.

i) Section - A contains Multiple Choice Questions. naswer all the

20 questions. Each question carries one mark.

il) Section - B contains 15 questions. Answer any ten ¢ estions. Each
question carries two marks.

SECTION - A
1. Choose the correct answer from the given alternatives : 20x 1 =20
1. The number of terms in the A.P. 7, 13, 19, ...... 97 is
a 97 - M 4
e . 16 d 15.

2. I n, p, qarein G.P. then the expression for pinterms of n ad g is

a = b) (ng)l/2
n d nq
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ird term of the sequence whose n®term t_=(n+1)(n+2)is

} b) 12

0 j d 9.

PHY? B (En)?

i(n+1)(2n+1) d n(n+1)
6 ; 2

rea of cross-section of a cylinder is 22 cm 2. If its height is 14 cm,

ts volume in cm 3 is
.54 b) 308
e - . d) 462

adius of base of a cone is 5 cm and its height is 12 cm. The slant

. of the cone is
3 cm b) 17 cm
cm d 60 cm.

id sphere with total surface area 24 cm? is bisected into
ispheres. The total surface area of any one of the hemisphere is

8 cm 2 b) 6cm?

4 cm? d 36cm?2.
|@={5,11,14, 17, 19,20}, PNQ={14} and
), 11, 14, 17}, then @ =

17, 19, 20 } B). {4, 18,17, 20}

5, 14, 17, 19, 20} d {14, 19, 20}.
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11.

12.

13.

14.

3 1821
If A and B are two sets and A - B = A, then
a) A and B are disjoint sets b) A and B are over] >ping sets
c¢) Bis asubset of A : d Ais the subseto 3.

X gene in a plant is responsible for red flowers and gene for white
flowers. If both are present, then the flowers produ :d are pink. If
20 plants have X gene, 20 plants have Y gene and there wre 30 plants in
all, then the total number of plants producing pink flower: s :

a 13 ' b) 10 .

g 20 d 30.

Given f(x) = (-1)* is a function from N to Z. The ra: eof fis

a {1} b N

o {1,-1} d z

The pre-image of 5 under the function
f=1{(2,-5).(3,5),(4,-5),(5,5)}is

a 2and3 _ b) 3and4

¢ 3andd d) 2 and4.

What is the half-yearly interest received for Rs. 25,00( In a bank on a
fixed deposit for 2 years, if the rate of interest is 10% ?

a) Rs. 2,500 ' b) Rs. 1,250

c¢) Rs. 3,750 d Rs. 5,000.

Vignesh deposited Rs. 100 every month as Recurring De; sit for 2—% years.

The amount deposited by Vignesh was
a) Rs. 3,600 b) Rs. 3,000

¢) Rs. 4,800 d) Rs. 3,500.
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15.

16.

173
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curring deposit of Rs. 80 per month for 5 years at 8% simple interest

‘ear yields an interest of

: 60 x 61 8
80 x5 b) 80 x 2x13 X 100
69 8 8
SOX“I—:Z*XT(—}a d) 80x5x12x1—66.

{CFof(x.2+1)and(x4+l)is

[x*<¢' ) b (x+1)

1 d oO.

egree of the polynomial x3 + 3x+ x® + 2x4 is

3 b) 3

(S

a9 1.
quare root of 9x? + 30xy + 25y 2 is
ix + By b} 3x-5y
- 3x + By d 9x+ 25y.-
nd B are the roots of the equation x2-7x+ 8 =0, then the value of
l . :
g =
b 7
a I
ature of the roots of x2 + ax+ bx+ab=0 is
:al, distinct and rational b) real, distinct and irrational

ot real ' d) real and equal.
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SECTION - B

Answer any ten questions :

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Find the 10 t* term of the A.P. 100, 96, 92, ...... !

A ball is dr;)pped from a height of 6 m and on each bou

?3— of its previous height. What is the total length of the «

Evaluate 1 +4 +9 + ...... + 225.

The radius and height of a cylinder are in the ratio 2

surface area of the cylinder is 352 sq.cm, find its radiu

The volume of the cone is 1232 cu.cm. Determine the

its height is 24 cm.

The volume of a sphere is numerically equal to its sw

diameter.

If f:Z— N is defined by f(x) = x+ 1, test whether

function or not. Give reason.

If {(-6,a),(b,4), (-2 ¢c) (d 7)} is an identity
values of a, b, cand d.

If f(x)=2x? and g(x)=3x-1, find fog and g

A

Ajay deposited Rs. 5,000 in a bank which pays 5-5% (

per annum. How much interest will he receive after 2 ye

Radha made a fixed deposit with a bank for 3 year:
annum. If she takes quarterly interest, find the int

Rs. 1,000 deposit.
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32. If th quotient on dividing 2x% - 7x3 - 18x%2 + 63x-48 by x-11is
2x% ax?+ bx+ 45, find a and b.
33. Fact ize: x3-2x2-5x+6.
2
. Yy°-2y 3y+6
34. Sim iy : y+2 X y-2
35. Forr the equation whose roots are 7 + V3 and 7 -3 .
PAR_T - II
N.B.: 1) This Part contains four Sections, Section - C, Section - D,
Section - E and Section - F.
i) Section - C and Section - E contain 3 questions each. Answer any
two questions in each Section.
iii Section - D and Section - F contain 4 quéstlons each. Answer any
three questions in each Section.
iv. Each question carries ﬁve marks.
SECTION -C
III. Answer ai " two questions : 2x5=10

36. In a1 A.P., the sum of the ﬁrst 10 terms is 175 and the sum of the next

10 t¢ mns is 475. Find the A.P.

. 37. Find 2e sum to nt_ermsoftheseries 7+77T+ 777 + ...... to n terms.

38. If a , b2, c? arein A.P., show that e

1 1 1

2 s
c+a a+barealo

in A
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SECTION -D
. . Answer any three questions : |
39. Using Venn diagram, verify
A-(BUC) = (A-B)N(A-C).

40. Givén flx)=5x+2, g(x)=2x-3, h(x)=3x+1,

fo(goh) = (fog)oh.

41. How much one should deposit every month in a bank p
annum on monthly recurring deposit, if at the end of 6 y'
get Rs. 3,318 ?

42. Which is better investment : — Rs. 2,000 in a fixed dej
for 3 years, the interest being compounded half-yearly a
(or) Rs. 60 per month in a recurring deposit with a ba

interest of 10% per annum for 36 months ?

SECTION - E

Answer any two questions :

43. A lead pencil is in the shape of a cylinder. If the penc
radius 4 mm and the lead is of radius 1 mm, find the vo

used in the pencil.

44. A semicircular plate of tin has a diameter 40 cm. It is
conical vessel by bringing the radii together and sol

capacity of the vessel.

45. A hollow spherical shell has an inner radius of 8 cm.

material is 1932 T o.c.. find the thickness of the shell.
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VI. Answer any

SECTION - F

hree questions :

83X bH~=15

46. In ar: on shop, the sale of sugar, rice and wheat were as follows :
' Sugar Rice Wheat Sale
(inkg) (inkg) (inkg) | (Amount)
Mc day 3 78
Tu day 2 126
We nesday 1 4 108
Find t1 sale price of each item per kg.
47. If x3- 2x2 + bx + 6 has x — 2 as a factor and leaves a remainder 3 when
dividec >y x - 3, find a and b.
x24x+1
48. Decom »jse into partial fraction : (- 80 it b
49. If the ¢ uation (_1 + m? ] x? + 2mex + [ c?- az) = 0 has equal roots,
~ provel at c2=a2[1+m2).
PART - IIl
N.B.: i) ‘he Part contains Section - G
ii) mnswer any one question.
iif)  ‘ach question carries ten marks.
SECTION - G
VII. Answer any ne question : 1x10=10
50. Drawt z.graphof y=(x-6)(x-3) and hence solve the equation
x2-7 #12=0.
51. Solve § iphically : x2-x-12=0.




